HEEEA EEPHS

ETSHE—HF (BT +=%5ENIERR)
EANENEEEEETES
(H) Er308F481H () Erk31F3H31H
(841 : A)
BENE LEERE(A) B RE(B) ER(A)-(B)
NEARRB RN 0 0 0
F NGB BRI 0 0 0
BB RINS 0 0 0
REBRING 0 0 0
| P EE R 0 0 0
FEERIY - AS BN 208, 286, 564 220, 910, 145 -12, 623, 581
| T|EE RSN 0 0 0
|| [EEEREs 0 0 0
p| B e 0 41,914 -41,914
ZORIDURZS 0 0 0
A [p-tzEsmpasst (1) 208, 286, 564 220, 952, 059 —12, 665, 495
=ININE 127,988, 792 150, 974, 711 —22,985, 919
8| |=zsm 30, 274, 685 32,112, 850 -1,838, 165
1@ |EHE 14,137, 596 11, 605, 243 2,532, 353
W |PeiEszEm 0 0 0
o .. | EEBZER 0 0 0
| B\ ImEaasmEs 0 0 0
= P |m e A E 19, 156, 033 15, 769, 682 3, 386, 351
EEHES SR S BN 3,272,133 -3, 095, 656 -176, 477
BURAAERE 0 0 0
BURTEES HDIRA 0 0 0
ZOMDER 0 0 0
H-PXEBEM (2) 188, 284, 973 207, 366, 830 —19, 081, 857
YEXEBMERESE (3) = (1) — (2) 20, 001, 591 13, 585, 229 6, 416, 362
EASH SRV 0 0 0
SZHF SES S N 34, 244 79, 532 45, 288
=i i 0 0 0
BIMEES 5502 0 0 0
T\ IR s e s 5 S 0 0 0
|| %% |samiasrsssings 0 0 0
B |EARAET 0 0 0
z| |ErEETms 0 0 0
= [zofhoy—tEESRE 535, 566 611,138 -75,572
#| | —CXEBIMRSEL (4) 569, 810 690, 670 120, 860
o] LR 0 0 0
| [AAESEHEA 0 0 0
Bl | 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
| | BB 7R 0 0 0
ap| " | EARAEE SIS 0 0 0
VA= (it ] 0 0 0
ZOMhOY L EENSME R 197, 280 273, 840 -76, 560
Y- P EENERSt (5) 197, 280 273, 840 =76, 560
H-CARBINEREE (6) = (4) — (5) 372, 530 416, 830 —44, 300
EEEREE (7) = (3) + (6) 20, 374, 121 14, 002, 059 6,372, 062
MRS RE RIS 1,409, 000 0 1,409, 000
e g e AN 0 0 0
EREEESBASTOEESHSINGS 0 0 0
| BE &S 0 134, 784 -134, 784
| EITE ARSI 880, 198 0 880, 198
H-EZRDRIRA DUNZE 0 0 0
| [P-EARDMEEEEB B 0 0 0
i ot 0 0 0
Bl [asmiuwesst (8) 2,289,198 134, 184 2,154, 414
B [=xamEAE 0 0 0
| |&EsrmE 0 0 0
0| |ExaEsiie-nsE 407, 426 2, 356, 595 -1,949, 169
w| | EEHBSSERIETISERE (RE%) 0 0 0
| EEmi S S RIE T ST 1,409, 000 0 1, 409, 000
A|se=iask 0 0 0
Y—E2RDRIEASER 0 0 0
Y-E2RSHEEEEREEA 0 0 0
ZOMBOIERIELK 0 0 0
1ERIEAET (9) 1,816, 426 2, 356, 595 2540, 169
TERIEEAESE (10) = (8) — (9) 472,772 —2, 2721, 811 2. 694, 583
LHPEENERESE (11) = (7) + (10) 20, 846, 893 11,780, 248 9, 066, 645
= enneasEEEEEE (12) 337, 413, 861 285, 758, 893 51, 654, 968
= [ERRESME BN~ (13) = (11) + (12) 358, 260, 754 297,539, 141 60, 721, 613
w [EASHEEE (14) 0 0 0
2 |ZOMOIETTSEIERZE (1 5) 0 39, 874,720 -39, 874,720
" |ZOMOETTRIETEE (16) 0 0 0

1/2




HEEEA EEPHS
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